BEENBEFRER

SH5E6 A1 HIBE

EENLEERER

EEX S ET4 3 x 5 BiIE L
1 (4t FE Bk F BT & K £E 835| 1,007| 1842| 0
2 | K BT W = £#E| 1070| 1332| 2402| -8
3 |ANEE/MEHIELER—I| 1,010| 1,248| 2258 | -24
4 |& X fE| 1,150 | 1449 | 2599 | -15
5 |# /0O B & R £ 268 316 584 | -4
6 |F H % # EOE 230 248 478 | 2
7 | BT RI A BT A = £B 828 950 | 1,778 | -8
8 PR /NMNEREI=E 327 382 709 | -9
9 |LEAMREELEESE2— 140 147 287 | 0
10 BABERDMNERAKE E 685 758 | 1443 | -3
11 |[ALFr—/LRaZa=F44&| 1,046 | 1,198 | 2244 | 11
12 |BfaSa=F«st>A2—| 1015 1,158 | 2173| -2
13 | KMEAZa=-TstEo32— 581 685 | 1,266 | -11
14 [N & @ % AW 1291| 1556| 2847 -6
15 |RREIAIa=FqsE24—| 1,027| 1218| 2245| 3
16 | ¥ B & K fE 339 416 755| O

a&t 11,842 | 14,068 | 25910 | -74




